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typedef struct queueStruct {
int *queuelist;
int head;

int tail; R FEASEEA
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[ queueTypex createQueue(queueType *queue, int size) |

{
queue = (queueTypex)malloc(sizeof(queueType));

newQueue->queueList = (int *)malloc(sizeof(int) * size);
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int enqueue(queueType *queue, int

{

}

if (isFull(queue)){
return -1;

}
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queue->tail++;
queue->queuelList[queue->tail]
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/int dequeue(queueType *queue) FIHIAHNEEF/E R
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{

if (isEmpty(queue)){
return -1;
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|queue—>head++;

printf("value: %d, head: %d, tail: %d, size: %d\n", queue->queuelList[queue-
>head], queue->head, queue->tail, queue->size);

queue->queuelList[queue->head] = 0;

return queue->head;

}
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int isEmpty(queueType *queue)
{

}
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return‘(queue—>head == queue->tail)|? 1 : 0;
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int isFull(queueType *queue)

return‘(queue—>tail >= queue—>size—1)‘? 1:

0;
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void enqueue(queueMaster *queue, int value)

{

queueNode *node = queue->tail;
node = (queueNode *) malloc(sizeof(queueNode));

node->next = NULL;

e ey Lt Z22(75 - head £
node->data = value; o = s
if (queue->head == NULL) { tail EnFAER IS )T BN &G

queue->head = node;
queue->tail = node;
} else {
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//;;;dequeue(queueMaster *queue)
{

queueNode *node = queue->head;
if (isEmpty(queue)){
return -1;

}
printf("[dequeue] value: %d\n", node->dat-’
if (queue->head == queue->tail) {
queue->head = NULL;
queue->tail = NULL;

} else {
queue->head = node->next; ‘

queue->head->prev = NULL;

}

free(node);
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int isEmpty(queueMaster *queue)

{

}

returd (queue->head == NULL)‘? 1 :
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void freeQueue(queueMaster *queue)

{

queueNode *currentNode = queue->head;
queueNode *nextNode = NULL;
int count = 0;

while(currentNode) { Jt i —ng 1 A malloc() Bo
nextNode = currentNode->next; BENERIZER B S free()
free(currentNode); = e o
count++; .

currentNode = nextNode;

free(queue) S
S =71 |3z Be .
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int getSize(queueMaster *queue)

{

queueNode *node = queue->head;
int count = 0;

while(node) { A2l next 5@ NULL A -
node = node->next; Z—In R A EnE - FEoJH
count++; STIANWIER &=

}

return count; 1/)
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tail = (tail + 1) % queueSize
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